2023f|57)5.l ﬁa‘%ﬁ*ﬁwﬁﬁiﬁ

1 =T TN 410423 I #ksicrokok516 JE BB JE 4 [X 4104040304

2 Phx2 410423 Iseksksreekkk529 JEBR)E 4L X 4104040304 50
3 i 410423 Ixkkkkkxk567 JEBE ML X 4104040304 50
4 F* 410423 Ik 503 JEBR)E 4L X 4104040304 50
5 i 410423 1 sk 529 JE BB X 4104040304 100
6 M=% 410423 I kskeokokok 522 JEBE 41 [X 4104040304 100
7 PR 410423 1 kkxxkk%k%523 JEBE AR X 4104040304 50
8 AR 410423 L5 1 JEBR)E 4L X 4104040304 100
9 =Y 410423 Ixkkkkrxxk520 JE B 4 [X 4104040304 50
10 Gk 410423 I kskokolok 528 JEBE 1 [X 4104040304 50
11 sl 410423 Dkskksrksk524 Jb B i 1 X 4104040304 100
12 P 410423 kskkorsk525 JEBE G 41X 4104040304 100
13 ¥* 410423 1 $kskkskoiok 526 JEBE L X 4104040304 100
14 B 410423 Ieserrrrx51 1 JEBR)E 4L X 4104040304 50
15 i 410423 1 %xxxk%k%51 | JE BB X 4104040304 50
16 R 410423 I kkskeiokokok5 15 JEBE 41 [X 4104040304 200
17 ok 410423 1 skskskkkok51 6 JEBEE AR X 4104040304 50
18 FERE 410423 1skeksiokkk549 JEBE G 41X 4104040304 100
19 Kk T 410423 Dksksokskoksk5 12 JE B 4k X 4104040304 50
20 gkxfG 410423 1skkeksiiokekk539 Jb BB JE 4 [X 4104040304 50
21 Fxig 4104231 k%xxx%%%516 JE BB JE 4 [X 4104040304 50
22 Fx 410423 Dkskskkrrkk547 JEBEJE 41X 4104040304 50
23 B 410423 1 k%xxxk%%54 | JEBE L X 4104040304 50
24 g 410423 kkteorscrokk523 JEBE G 41X 4104040304 50
25 e 410423 1 kkxxkkk%51 2 JE BB 4 [X 4104040304 50
26 Rk 410423 I ksksieiokok54 1 JEBE 41 [X 4104040304 50
27 P 410423 I xxxxxxx%524 JEBE AR X 4104040304 50
28 Ex X 410423 Ik 515 JEBR)E 4L X 4104040304 50




29 FxEq 410423 1kskksrkskn51 1 JE B Ak X 4104040304 50
30 Fxdt 410423 [sksksteksiskoksk 522 Jb BB JE 41X 4104040304 50
31 e 410423 kskkssrokks524 JEBE AR X 4104040304 50
32 gk I, 410423 1skeksiokekk510 JEBE G 41X 4104040304 50
33 ks I, 410423 Ik k512 Jb B 4k X 4104040304 200
34 Rk 4104231 sksksksksksksiek 51X JLEBJE AL X 4104040304 50
35 E*K 410423 Ixskkskrrrk517 JE BB JE 4 [X 4104040304 50
36 B 410423 oksoksroksk 527 JE B L X 4104040304 50
37 it s« 410423 1 kkxxkk5k%527 JEBEE AR X 4104040304 50
38 ok 410423 Isekskekerekkk 524 JEBR)E 4L X 4104040304 50
39 Fok 410423 1 kkxxkk%k%525 JE BB X 4104040304 50
40 xR, 4104231 kskskskskk4520 AL BE JE 41 X 4104040304 50
41 ¥* 410421 kskkssrorks524 KX XA RZE RS 4104040208 100
42 i 410421 Lsekskksokekk52 1 KX XA KRBT R 2 4104040208 100
43 k] 410421 1 kkksrrok 52X KX XA RB RS 4104040208 100
44 H K- 410421 I xsokkriokk554 KX XA R 2 4104040208 100
45 T 410421 1ssksksrsrrk 527 KX XA KBRS 4104040208 100
46 Fox 410421 1kt 51 1 KX A ER RS 4104040208 100
47 T 410421 sk 521 KXFEXA RFBAS 4104040208 50
48 Exn 410421 Lsekskksokskk56 1 KX XA R 2 4104040208 50
49 il 410421 skt 545 KXFEXA KRB RS 4104040208 50
50 E 410421 1kt k546 KX REBERAES 4104040208 50
51 i 410421 kskkssorkk52 1 KX RZE RS 4104040208 100
52 Bk 410421 Tksteoksicrokek5 1 2 KX XA RZE 4104040208 50
53 Tk 410421 Ik k547 KX XA R ZE D122 4104040208 50
54 FEx 410421 Dksksokssrork 535 XA XA R 2 2 4104040208 100
55 Tk 410421 Ikskkskk %532 KX XA RZE 22 4104040208 100
56 E* 410421 1 skststteksksk 533 KX XA KT AL 4104040208 100
57 % 410421 sskstttrskk 51X KXFEXA KRB AS 4104040208 100
58 FhwyE 410421 Lseksdoksokok 52X X XA R 4104040208 100
59 Tz 410421 1ssksksrrsrrek5 18 KXFEX A KRB AE 4104040208 50
60 Fx 410421 Iksksierokok52 1 XA XA R 2 2 4104040208 50




61 B 410421 kskkssrorkk52 1 KX A RB RS 4104040208 50
62 Kk 410421 Ikksieokok519 RXIAE XA EéJ\ = 4104040208 50
63 Fqf 410421 Disksokokk546 R XA B2 A 4104040208 50
64 Fi* 410421 Tstekseiokkk524 KX AL XA Eém = 4104040208 50
65 ekt 410421 Ixkskkskkx533 KX XA R ZE Dl 22 4104040208 50
66 B 410421 Lieksosokkk5 13 XA XA R 2 2 4104040208 50
67 B 410421 Doksoksrrk5 22 XXM RBER S 4104040208 50
68 Pk 410401 Dk 020 KA XA RZE i 2x 4104040201 50
69 e 410401 Iksksksorrx02X KEHXMNRERS 4104040201 50
70 Bk 410401 Lkl 02X KA RZE R 2 = 4104040201 50
71 SR 410401 Dkskkrsrork024 REAXA RZE R 4104040201 100
72 A 410401 Lkl 01X KA XS &éJ\ = 4104040201 50
73 27 410401 kskkssrrsk (022 KREAXH RZE R 4104040201 50
74 fizkFE 410401 Tskksteoksicroksk( 12 KEA XS Eém = 4104040201 50
75 Ao 410401 Iksksksorrk0 1 X KX A R R 4104040201 50
76 Zexik 410401 Lieksoksokkk522 KA XA %éj\ = 4104040201 50
77 Bl 410401 oksksrrrk 047 KEAXH KT R 4104040201 50
78 S ALl 412702 | skt 38 AL XA E%?m z: 4104040201 50
79 Tt 410401 Dok x023 KA X AT RZE 22 4104040201 50
80 Tty 410401 1kt (18 KA XA Eéiﬁ% 4104040201 50
81 ks fif 410401 kskrork(18 KEHXMNERERS 4104040201 50
82 kxR, 410401 Liekkssokork0 14 KREMXA RZE A2 4104040201 50
83 xiE 410401 okskoior024 KEHXMNERERS 4104040201 50
84 FEN 410401 1 ¥kkxk020 KEAXARZED F‘r = 4104040201 50
85 T 410401 [kskksork k027 KX A R R 4104040201 50
86 sy 410421 1ssksokstororsk (13 KA XA %éj\ = 4104040201 50
87 FhlR 410401 Ixkkkskk®029 KA XA R ZE 4104040201 50
88 S 410401 1 %ksxskkik(01 3 KEAXARED HA 4104040201 50
89 Fodg: 410401 kskskksriork (01X KEAXH RZE R 4104040201 50
90 sk 410401 Lisksksksokskk0 10 KA XA Eéj\ o 4104040201 50
91 B 410401 kskoksrsrrk (]2 KEHXMNERERS 4104040201 50
92 e 410401 Liekssokkk0 13 REMXA RZE A2 4104040201 50




93 Sk 410401 kskkrsrork (028 KEHXMERERS 4104040201 50
94 Fxpf 410401 1kkstorscrokek027 KRJEAE X AT &éJ\ = 4104040201 50
95 Zssert 410401 Isokskiork0 1 4 KREAXH KT R 4104040201 50
96 Fxf 410401 [ ksxsskkk(027 KA XS Eém = 4104040201 50
97 Hx 410401 kskkrsrkks526 R X ERER 4104040399 50
98 sk 410401 Itttk 529 IR eAE X %éj\zz 4104040399 100
99 B 410401 kskkssorks510 EXMAXERER 4104040399 50
100 % 410401 Ikkkrkkx533 RN %i[%%émz: 4104040399 100
101 Bk K 410401 1 skssrrotork 523 R X JERER 4104040399 50
102 s 410401 1 sokkrkskk526 R %i[)?%?Az: 4104040399 50
103 % 410401 Dkskksrrk545 EXMAXERE R 4104040399 50
104 [k 410401 Itttk 26 IR X EéJ\ z: 4104040399 50
105 FxF 410421 Dkskssrrk015 R X JERER 4104040399 50
106 X% =% 410401 Iekekkstorskek525 R %i[)%%émz: 4104040399 50
107 H 410401 Ikskkskk %528 EMAXERER 4104040399 100
108 Ay 410423 Ik 523 IR A X Eéj\ = 4104040399 100
109 RS 410401 1 %kx555%526 EXMAXERER 4104040399 50
110 ZExT 410401 1#skskskrrrk539 RN %i[%%?mz: 4104040399 50
111 25 410401 Itttk 51X R X JERER 4104040399 50
112 HxeE 410401 Ikkstieiokok529 RN %il:}%%éj\z: 4104040399 50
113 EEYN 410401 1 ¥%kxkk%k51 | EXMAXERER 4104040399 50
114 Ve 410401 Letsotksckk5 23 /\7<‘ﬁ:|:}§&§J\2: 4104040399 50
115 S 410421 Ik 028 EMAXERER 4104040399 50
116 e 410401 1skkrksokk51 1 Rl %i[%%émz: 4104040399 50
117 Tl 410401 1 sksksrroror5 ] 1 R X JERER 4104040399 50
118 K 410401 Itttk 53X /\%%‘il:}?%éj\z: 4104040399 50
119 Kl 411121 I ¥%kxxkk%389 EXMAXERER 4104040399 50
120 s 410423 sk 36 RN %i[%%?mz: 4104040399 50
121 P s 410401 Dkskksrrk5 18 R X JERER 4104040399 50
122 HRes 410404 | kskseksckoksk 527 %% zil:)%%é/\z: 4104040399 50
123 A 410401 oksokssrrk5 1 7 EXMAXERER 4104040399 50
124 LS 410401 Itttk 519 /\wftl:EEéJ\z: 4104040399 50




125 e 410401 Iksrtsir5TX ZROMALXE R R 2 4104040399 50
126 2k 410401 spkkosirb3 1 FRMAE X E &éJ\ = 4104040399 50
127 Uk 410401 Lskss5 10 ZR A X (R 2 5 4104040399 50
128 ik 4104041 sksksksksk5k4x529 RN X E Eém z: 4104040399 50
129 Vs 410404 1 %ksrtks527 R X R 5 4104040399 50
130 oD 410401 Dksotsorior527 ZR AL X %éj\z: 4104040399 100
131 Vpf 410401 ¥kirtrs538 AL X E R 5 4104040399 100
132 75 Ef] 410401 1sksskskoskskk51 7 RN X E %%?mz: 4104040399 100
133 exshl 410423 I ¥kirss023 R X E R T 4104040399 100
134 T EE 652901 Iksksiookolsk927 FRMAE X E Eﬁj‘x 4104040399 50
135 Sl 410401 [#srtk%5 16 AL X E R 7 4104040399 50
136 ey 410401 1xxxxx%%%510 IR AR X %?J\z: 4104040399 200
137 A 410401 Ikksrrn528 ZR A X R R 2 5 4104040399 50
133 PRy 410401 Ik 52X JROCAE X %émz: 4104040399 50
139 T 410401 Ikiortss5 18 ZRMAE X R R 5 4104040399 50
140 iy 410404 | st | | FRMAL X E %éj\z: 4104040399 50
141 Faxily 410401 ¥ksrtrs527 AL X E R B 4104040399 50
142 ot 410401 rttkir522 ZR AL X E%?m 2 4104040399 50
143 T 410401 Iksortssr5 1X R X E R T 4104040399 50
) Bt 410401 Issksiork5 13 JROCAE X %?Azx 4104040399 50
145 Lok 410423 istopkokk5 13 AR X R 5 4104040399 50
146 T 410401 Dsksorsrk01X AR X %?J\z: 4104040399 50
147 B 410401 Istsorirs 1 X ZROAE X R B 4104040399 50
148 st 410401 1sksksksktkokskk512 RN X E %émg 4104040399 50
149 ER 410401 sksotkrkk549 ZRPAE X s B2 R 4104040399 50
150 ) 410401 [ #kkkskk k529 VA X %éj\z: 4104040399 00
151 SR 410401 Dsksotrork51 1 IR X R 5 4104040399 50
152 EfE 410404 skl k521 RN X E E%?m 2 4104040399 100
153 Rl 410404 Isssortnrs5 14 R X E R 5 4104040399 100
154 Zsw 410401 Isekskekstsierok5 1 X FRMAE X E %?AK 4104040399 50
155 ek 2L 410401 Dstsotksotkk522 AR X R 5 4104040399 50
156 X 410401 1 xxxxx%%%524 IR A X %?J\z: 4104040399 50




157 Fx= 410401 1ssksksksrskoskk »
= 51X VA =N
158 ko 412728 1kskskstorskksk 827 z&ggggifi U005 20
159 2R 410401 ksoksir®523 ;F\Q X 2 Z‘z 1104040399 50
160 % 410423 1skskskskokokokk 52 1 %Q%g}ggigz 4102040399 20
161 ] 410401 Iskiorns522 ;F\Qﬁlz E§§§§ VTS 0
162 Hex 410401 kskskskoskokskk 51 1 ;F;Zﬁg}g géff\ 21040409 20
163 FoxEL 410401 Ikskskskskskskk 5 1 X \Q‘ Z‘ = 1104040399 20
o1 AMHXERERS 4104040399 5
YAt 410401 Iskkkrks®53 ] FMHKXERERS 110 0
165 5K+ Ae 410421 Dkionkx021 T A X §§§f\ 20t 0
166 Fx 410401 1kskstokskdrk 519 %EQH:'ZE Eéﬁi 01055 00
167 k1l 410401 Lkskkskskskskok5 14 %:i\iﬁg)gﬁéﬁz 2102040299 20
168 SRk 410401 1kskskstsrsksksk51 3 %Q*ﬂz}g aéfz U005 20
169 ZExSE 410401 1kskoks VE = 2102340379 20
okekd 1X AMHXERERS 41040403
170 a3 410401 Dostotork021 EEA XA R ,E':/f . 0
171 i 410401 ssictorseiok0 1X AR XA R o e 20
172 Tl 410401 [ fekstesieokoksk022 foﬁjzj:ﬂ‘ Eifz 2104040402 100
173 ek 410401 1 skststesiesiekok02 1 o AL X F Z“i B 100
174 xR 410401 Iseksksrrkk013 ijﬂzgaﬁfz 1101040402 50
175 JARGTTEY 410401 Dotk 18 ? i;%fiIZH §§§§ S 0
176 ExAE 410401 1sksksksstesksksk(022 ;Eﬁgﬁ §§§§ 1101010192 20
177 fark 410401 1 skttt 1 3 E‘jﬁﬂzﬁ%éz‘(z 2102040202 20
178 g 410401 Isekskekerekkk018 _ PN 104040402 50
i e R A XA R 1 2 4104040402
179 ik fH] 410401 Istokorior018 EEA X M R 2 o0
180 o 010 Leerrr0z1 Z ‘ E = 4104040402 50
LS e FE AL XA R 51 2 4104040402
181 24 410401 Iskkkrkkx025 O = 20
‘ fei A XA IR Dt 2 4104040402
182 X% 410401 Ikketieiekok026 B =N 20
3 — AR XA AR S 4104040402 50
kI 410401 sttt 02 1 o =
A XA R 2 4104040402
184 B 410401 [ skststtsksksk022 = = 20
_ e R AL XA R 1 2 4104040402
185 ek 410401 Ikttt :02 1 e = 20
i R A XA R i 2 4104040402
186 Xk 410401 1sktstokor 048 =R = 20
e R AL XA R 1 2 4104040402
187 PRt 410401 skttt 1 = 2 = 100
i i E A XA R 2 4104040402
188 ek i 410401 Itttk 14 B = 20
e R A XA R 1 2 4104040402 50




189 Ttk 410401 [ seskstetsiokteok 04X A XA RERS 4104040402 50
190 ok 410401 1 stttk 026 e FE AR O R 5 2 4104040402 50
191 o 410401 Ltk 02X E AL XA R i 2 4104040402 50
192 TR, 410401 ekttt 1 X A XA R 5 2 4104040402 50
193 . 410401 Lisksksskskk 027 A XA RERS 4104040402 50
191 T+ 410401 1 skotskotokotok0 24 e A XA RS 51 2% 4104040402 100
195 A 410401 [ sesksotsiokskk 022 A XA RERS 4104040402 100
196 iy 410401 Lisksoksskkx 022 A X R 1 2 4104040402 100
197 st 410401 [seskststoksk 1 3 A XA RERS 4104040402 50
198 Pk 410401 | sekotsotickx047 e A XA RS 51 2 4104040402 50
199 ok 410401 1 sskoktstokskk039 A XA RERS 4104040402 50
200 I 410401 skttt 025 e FE AR O R S 2 4104040402 50
201 TN 410401 1ssksorctokk0 10 m A XA R 2 4104040402 50
902 R 410401 1 sskotskotokotok0 24 A XA R 5 42 4104040402 50
203 sy 410401 [isksokksrx053 E AL XA R i 2 4104040402 50
504 o) 410421 |kttt 5 1 8 e A XA RS 51 2 4104040402 50
205 ok 412929 [k k924 E AL XA R G2 4104040402 100
506 o 410421 Lsksksokskk599 A X R 1 2 4104040402 50
507 =P 410401 Ikskstokoiokork02 1 EEAE XA R 2 4104040402 50
508 i 410401 1 skotskotokook01 6 e A XA RS 51 2 4104040402 50
209 Kk 410401 Lsskskststoksksk0 10 A XA RERS 4104040402 50
210 W] 410401 skttt 1 3 e FE AR XM R S 2 4104040402 50
211 [ 410401 1etkskoioksok028 m A XA R R 2 4104040402 50
912 Sl 410401 1 skttt 1 0 RIEAHXHRE RS 4104040102 50
213 sk 410401 Lsskststokssk02 1 KEMXMNRERS 4104040102 100
514 S 410401 1 skotskotokook0 19 KA X RZE 2 4104040102 100
N i 410401 Lkt 023 KEMXHNRERS 4104040102 50
216 Sskf] 410404 skt xk499 RIEAL XM RE 2 4104040102 50
517 e 410401 Lisksskskk (23 KEMXHNRERS 4104040102 100
518 Sx 410401 1 ekttt 1 X KX RZE 2 4104040102 50
219 X2 410401 [ seskstsioksk 028 KEMXMNRERS 4104040102 100
990 o 410401 1 stttk 040 REAE XA R 2 4104040102 50




221 THfg 410401 1 skssrroror 324 KEHXMNRERERS 4104040102 50
222 Bhx 410401 Liekksskk:020 K FEA X RS &éJ\ = 4104040102 100
223 Fexk 410401 kskkrsrork (]2 KEAXH KT R 4104040102 50
224 ok 410401 1skeksieiokkk019 R EA XS Eém o 4104040102 50
225 Fk1l] 410401 kskksrsorks014 KEHXMNRERS 4104040102 50
226 Fvk 410401 Derrrrk027 KEHXMNRERAS 4104040102 50
227 Kk 410401 Ixkkkskk®029 KA XA RZE 2 4104040102 100
228 Bk 410401 1skskskskskskexk (019 FKEAXMNERZ RS 4104040102 50
229 Skt T 410401 kskkssorrs 1 16 KEHXMNRERS 4104040102 50
230 Fx 410401 Lekkssckkk020 KEMXA RE A2 = 4104040102 50
231 Fekyh 410401 Dkskkssrorkk03 1 KEAXH RE R 4104040102 50
232 FxFk 410401 1kkeksiokkk019 R JEAE X AT &éJ\ = 4104040102 50
233 Fexk 410401 kskssrork015 KEAXH RZE R 4104040102 50
234 skl 410401 Ikkstieierok029 R EA XS Eém = 4104040102 50
235 Fx5 410401 1 $skssrotork(015 KEAXH RZE R 4104040102 50
236 ] 410404 Lieksoksokkk532 KA X A %éj\ = 4104040102 100
237 A4 5% 410401 okskkrsrrk(28 KA RE R 4104040102 50
238 Wi 410401 1skskstsksksdersk 040 FeFEAE XA Eém 2: 4104040102 50
239 FHRAE 410401 kskskksrior k02X KEHXMNRERS 4104040102 50
240 Fosk 410401 Lsekstokotsiok() ] 2 KA XA Eéiﬁ% 4104040102 50
241 P 410401 kst (28 KEHXMNERERS 4104040102 50
242 Ex2 410401 Liekskssokrk02 1 KEMXA RERZ 4104040102 50
243 el 410401 1 #sksk54%026 REHXHRZE 2 4104040102 50
244 [+ 410401 Liekstesokkx 02X KEH XM RED F‘r > 4104040102 50
245 o 410401 Dkskkskk 022 KA X AT RZE 4104040102 50
246 Kok 410401 Lkl 17 KA XA %éj\ = 4104040102 50
247 Bk 410401 kskkssroik024 KA RE R 4104040102 50
248 T 410401 1 kskstesieokoksk0 15 Je FEAL XA E%?'E"A 4104040102 50
249 Fek T 410401 kskkssriks010 KEHXH RZE R 4104040102 50
250 ok 410401 Lekoksokork024 KA XA Eéj\ o 4104040102 100
251 FyT 410401 kskoksrsrrk (]2 KEHXMNERERS 4104040102 50
259 B 410421 1xxxxx5%%023 fEMXANRERAS 4104040105 100




253 AL 410421 kskkssroik020 A E XM RERS 4104040105 100
254 Tk 410421 1kstorscrokek027 ] FE AL XA &éJ\ = 4104040105 50
255 % 410421 Ikskksork k047 A EH XM RERS 4104040105 50
256 1% 410421 Tstekseiokskk020 A FEAE XA RZB 2 4104040105 50
257 X% 410421 Ikskksksk 022 AL XA R 2 Dl 2 4104040105 50
258 AT R 410421 Dksksosesork (015 fEAXANRERS 4104040105 50
259 B 410421 skskksriork 04X fEH XM RERS 4104040105 50
260 T 410421 stk 16 A XA KRB R S 4104040105 100
261 fA] %37 410421 Dkskkssorkk01 1 A EH XM RERS 4104040105 50
262 = 410421 Lieksoksokkk 027 A XA R T 2 = 4104040105 50
263 T2z 410421 oksksrork (13 Al FE AL XA R 4104040105 50
264 gk 410421 sk 02 1 o] FEAE XA Eé% ox 4104040105 50
265 [RYi7 410421 skkksx 106 A AL XA RS Dl 2 4104040105 50
266 XiJ 410421 Tteseiokkk 064 A FEAE XA RZB 2 = 4104040105 100
267 B 410421 kskskksriork (01X Al FE A XA (R 2R 4104040105 50
268 Sk 410421 Leksksokrk 121 i) A X A Eéj\ = 4104040105 50
269 ok 410421 oksoksrsrork (]2 A FE A XA R R 4104040105 50
270 B 410421 1sskkstesiskskk02 1 ] A XA E%%m 2 4104040105 50
271 T*AH 410421 1 $kssrroror(3 1 A EH XM RERS 4104040105 50
272 ki 410421 Liskskssrsr:020 fi] A XA Eéiﬁ% 4104040105 50
273 fAT R0 410421 Ikskksorr k013 i) FEAE X R 2 2 4104040105 50
274 Fx 410421 Iksksierokok5 ] 1 T A X R 12 4104040205 100
275 EOIN 410421 kskkssorkk54 1 A XA T 2 4104040205 50
276 Jii x5 410421 I¥ssserokkok525 TR XA R D 'E"A 4104040205 50
277 3% 410421 sk 520 T A XA R R 4104040205 50
278 ko 410421 Iskeksiokskk569 ATV A XA Eéj\ = 4104040205 50
279 i 5 410421 Doksokrrrk5 27 A A XA R R 4104040205 50
280 Wk 410421 1ksksrskskkorkk 543 TR XA RRD nE'rA 4104040205 50
281 Fx 410421 kskkssorkk5 1 1 T A XA R R 4104040205 50
282 A 410421 I#skskseerok5 1 X JA] VS A XA Eﬁj\ o 4104040205 50
283 ek 410421 kskkssrkk®526 A XA RT 2 4104040205 50
284 B 410421 Ieerrrrk518 A XA RE RS 4104040205 50




285 %2 410421 Ikskksoksk k522 S XA RE RS 4104040205 50
286 [V 410421 [kskseoksckoksk528 T A XA EéJ\ = 4104040205 50
287 Tk 410421 kskkssokk*526 S XA RE RS 4104040205 50
288 x4 410421 Laskksskkk516 PSR XA RZE R 4104040205 50
289 Bk 410421 [ seskstsiokskk 523 VS XA RTINS 4104040205 50
290 FxH 410421 kst 559 PR AE XA R ZE bl 2x = 4104040204 50
291 Zrserh 410421 1ksiokmikx53X P H X AT R ZE R 4104040204 100
292 B %31 410421 k542 Pl L INE N E%%m = 4104040204 50
293 sk 410421 I3kskksorr k513 FURHE X H (R ZE 4104040204 50
294 Tty 410421 1okt 523 TS XA RER z; 4104040204 50
295 Bk 410421 ksoksir®523 P X AT R ZE R 4104040204 100
296 b I, 410421 Issdkstoskkdk5 16 T XA RER S 4104040204 100
297 Fx 410421 1ksskdskdk 4520 M}i[ﬁ%éj\x 4104040204 50
2098 2oy 410421 1ksskstorstork521 /\Ill/‘%i XA EFRS 4104040204 50
299 T 75 410421 1#skkksx526 PR A XA RZE Dl 22 4104040204 100
300 X 410421 1%skksxkkx%529 T XA Eék z; 4104040204 100
301 Tk 410421 ksoksiorx527 FULH X AT R ZE 4104040204 50
302 ¥yxfd 410421 1skskkrosk k520 B A XA E%%m = 4104040204 50
303 Vpe 7 410421 Dstortrk520 LA XA R ZE 7 4104040204 50
304 =1 410421 1%kkskkkx%549 PR A X R R ZE A z; 4104040204 50
305 Hx 410421 Ixkkkskkk52 1 Aumi[ﬂ%é e 4104040204 50
306 e 35 410401 Iskskstoskokadok(19 E*“ﬁl:ﬁ %éi 4104040302 50
307 ik 410401 Ttttk 2X B XA RZE RS 4104040302 50
308 Fx 410401 1k 025 E*}i[ﬁ EénE'rA 4104040302 50
309 [V 410401 1skskksx024 B XA R 4104040302 50
310 Hi 410401 Ikt 13 E*?fﬂ:ﬁ %éj\ = 4104040302 50
311 Fd 410401 1skskkstsrsks:0 24 AL XA RE R 4104040302 100
312 25 sty 410401 kst k026 E%HEH E%?'E"A 4104040302 50
313 ks 410401 1sskstokstorssk028 AL XA RZE R 4104040302 50
314 afe 410401 1ksekstorstork01 1 E*}i[ﬁ R};J‘ o= 4104040302 50
315 Bexdr 410401 1 stk 020 B XA RE RS 4104040302 50
316 I ES A 410401 1skseskstorsork:(019 ﬁ*“ﬁl:ﬁ RERS 4104040302 100




317 ¥ixiz 410401 Dssoksstor014 HEEAXA RE 4104040302 50
318 x4 410401 Ltttk 02X FEE A XA &é% = 4104040302 50
319 e 410401 [iskskksorx528 FEEHXHNERE RS 4104040302 100
320 A 410401 Ik 525 E*?ﬁi XATRZE RS 4104040302 50
321 Fx 410401 kskssrrk025 B XA RZE RS 4104040302 50
322 Fkl 410401 Ietsrsrrsrrk(28 E*?ﬁi[ﬁ RERS 4104040302 50
323 Bk 410401 Iskrsrsrrrk()13 EAXMNREAS 4104040302 100
324 Ik 410401 [ ekstesieokoksk025 H*%‘i XA RZE o 4104040302 50
325 YFs 410401 Iksksksorrx02X BALXA KRB E 4104040302 50
326 Fx 410401 Liekksokork024 E*ﬁ XA RERS = 4104040302 100
327 % 410401 kskkrrrk023 AL XA TR 4104040302 100
328 ZEs Ay 410401 Ikskstierekok539 E*“rftl:ﬁ EéJ\ P 4104040302 50
329 Mixtr 410401 13kt 1 3 HEA XA RZE 2 4104040302 50
330 Ws 410401 Lsekskksiokskk 516 E*?ﬁi XA o = 4104040302 50
331 ke xfe 410401 1kskkrsrkks526 AL XA RZE R 4104040302 50
332 ke 410401 1 #ektsiokakk020 E*?ﬁil:ﬁ Eéj\ = 4104040302 50
333 %k 410401 Laskoksoork0 14 B XARZER 4104040302 50
334 Wyx i 410401 Ikkkkk k022 E*?ﬁi XA E%%m = 4104040302 50
335 Fxt 410401 [ #ksskokoksk027 EEMXNRERS 4104040302 50
336 Zxf 410421 Lieksosokkk035 REE AL XA Eéiﬁ% 4104040104 50
337 fix T 410421 sk 044 A XA RT A S 4104040104 50
338 i s 410421 1skskskkssksksk028 B XM RE RS 4104040104 50
339 COvS 410421 kskkrsrorsk (032 A XA RE 2 4104040104 50
340 Bk 410421 Lieksoksokkk028 EEA XA RZE D F‘r = 4104040104 100
341 kN 410421 kskkrsrrsk (032 R XA R R 4104040104 50
342 Bk 410421 Lieksosokkk023 A X AT Eéj\ = 4104040104 50
343 Fx 410421 Likskksoks k023 R XA TR 4104040104 50
344 Fs 30 410421 1 ¥ksxskkik(0] 2 A X R D F‘r 2~ 4104040104 50
345 Fxi 410421 Isokskorsk k021 R XA RZE R 4104040104 100
346 Bhx 410421 Lekkssckkk020 A XA R T 2 4104040104 50
347 Fx4f 410421 okskksrsrorsk (022 A XA RT A S 4104040104 50
348 =1 410421 Ikstekseiokkk014 A XA R 2 4104040104 50




349 g o 410421 Iskokskkk k026 A XA RT A S 4104040104 100
350 Fx 410421 Isteksiokekk024 BEEEAE XA &éJ\ = 4104040104 100
351 Fx 410421 Ikseksokrk02 1 A XA RE A2 4104040104 100
352 sk 410421 Lioksksksokskk ()1 7 A XA R 2 4104040104 50
353 xR 410421 Dkskssrork015 R XA RT A2 4104040104 50
354 A 410421 Lsekokssckkk019 A XA R T T2 4104040104 50
355 Fx 410421 Laskokskaorsk k02 1 A XA RT A S 4104040104 50
356 Fx 410421 1ssksrrrrk(065 FOE XA RE RS 4104040104 50
357 JE % 410421 Ioksksorsk k02 1 A XA KRB 4104040104 50
358 B 410421 Ixsokkrikx030 REEAE XA R T 2 = 4104040104 50
359 ok 410421 1 $kskssroiok(029 R XA TR 4104040104 50
360 g 410421 Iksfeksiokkk039 BEEEAE XA &éJ\ = 4104040104 50
361 5 J 410421 Dkskksrorsk (032 A XA RE A2 4104040104 50
362 Tt 410401 1skekseiokkk034 B XA RE R 2 = 4104040202 50
363 FH 410401 ksksrork (17 PiRE 4 XA R R 4104040202 50
364 1) 410401 Liekssokkk025 B VR 4 XA %§J\ = 4104040202 50
365 2S5 fff 410401 1 $ksstroorsk023 PiRE 4 XA KRB R 4104040202 100
366 Fx 410401 1sksksrorsk:026 i VR 4 XA %éﬁm = 4104040202 50
367 FhxF0 410401 I#kkxxx5%01 X PiUE XN RBE RS 4104040202 100
368 Fade 410401 1skkeksiokkk019 B RS XA R % 4104040202 50
369 XA 410401 Ik k022 BRE XA RZE 2 4104040202 50
370 Bk 410401 Lkt 025 P U A X A R R % 4104040202 50
371 Fx 410401 1 $kssroork025 PiE XA RBE RS 4104040202 50
372 s 410401 [¥ssserokkk025 PiUE AL XA %éj\ = 4104040202 50
373 Hoxk 410401 okskkrsrorsk (]2 PiRE A XA R R 4104040202 50
374 kR 410401 sk 020 P YU A XA %§J\ = 4104040202 50
375 Fx 410401 Likskksoks k025 FUE XA RE R 4104040202 50
376 Jifis A 410401 [ skststeresksksk025 PipUE A XA RZR D F‘r = 4104040202 100
377 aky 410401 1 $kssroorok023 PiRE 4 XA R R 4104040202 50
378 Bhx 410401 Lieksosokkk025 B XA RZE 2 4104040202 50
379 X 410401 Ik 028 BRE XA RE 12 4104040202 50
380 ok 410401 I¥sksserorkk025 B+ XA RE 2 4104040202 50




381 % 410401 1ksksksokrstok 02X UE XA R RS 4104040202 50
382 Bl 410401 1 xxxxx%%%024 B UE A XA EéJ\K 4104040202 50
383 Xk 410401 1kskskksrsiork (01X PiRE AL XA RE R 4104040202 50
384 Jifix 410401 1sotsotokx022 S #E XA %éj\ = 4104040202 50
385 B Al 410421 Disksokorkork014 PiUE XA IR A 2 4104040202 50
386 = 410401 Liekstesokkx 02X BiUE XA RE RS 4104040202 100
387 Sexhfy 410401 Disksktsrx 02X PiUE XA IR A 2 4104040202 50
388 Yk 410401 1 stttk 029 PipUE XA REB RS 4104040202 50
389 = 410401 Dksksksrsx014 PiPUE XA IR A 25 4104040202 50
390 Ak 410401 Lkt 12 iU A XA R o = 4104040202 50
391 i) 410401 1kskkrsrork029 PiRE A XA R 4104040202 50
392 T2 410401 Lisksosokkk022 53 1R A XA %éj\ = 4104040202 50
393 ok 410401 kskkrsrrk026 PiRE AL XA R R 4104040202 100
394 fol>a 410401 Lotttk 02 1 53 RS A XA %éj\ = 4104040202 50
395 Tk 410421 sk ] 14 RS XA R 5 4104040202 50
396 Wt 410401 ksskssroksk010 B VR 4 XA %§J\ = 4104040202 50
397 P % 410401 1skskskksriork 03X PiRE 4 XA KRB R 4104040202 50
398 Pt 410401 1 skttt 029 B UE AL XA Eém = 4104040202 50
399 Fex 410401 Ixkkkskk 020 BiE XA RZE i1 2 4104040202 50
400 Rk 410401 Lekokssckk:029 BUE XA RER % 4104040202 50
401 Fhe 410401 kskkrsrorsk (022 BiUE A XA R B RS 4104040202 50
402 i 410401 Liekokssokork024 BUE XA RER % 4104040202 50
403 ifi 410401 kskksrork (022 Bk A XA R B 2 4104040202 50
404 vk 410401 Iksksteoksicrokek015 i VR 4 XA %éj\ = 4104040202 50
405 2L h 410401 kskkrsorks010 B U A XA R R 4104040202 50
406 Vbl 410401 Dokt (028 P YU A XA %§J\ = 4104040202 50
407 Fx 410401 1ok k02X P U A XA [RZE R 4104040202 50
408 g/ 410401 1kttt (037 B S 4 XA R F‘r = 4104040202 50
409 JERE 410401 kskksrokk026 B U A XA R R 4104040202 50
410 ik 410401 1kl 1X 3 RS A XA %éj\ & 4104040202 50
411 Exil 410423 1 skkxk%%539 BRI AL XA RT 2 4104040306 100
412 LR35 410423 1 #sketsokokk529 BRAR I b XA R 2 4104040306 50




413 Tk 410423 | ssksktstokskk5 10 PR A XA R e 4104040306 50
414 fA[%7% 410423 ] #eskeksikokk5 19 R S ?filiﬁ%éj\z: 4104040306 50
415 Ft*x7 410423 1 $kssoiork5 15 TR i 4 XA IR ZE R 4104040306 50
416 75tk 410423 Ikt 5 43 BRI %i[*i%éj\z: 4104040306 100
417 % 410423 Ikt %528 PR E #E XA R R b1 2 4104040306 50
418 ks 410423 1 sksksksskskok 52X B EAE XA REB RS 4104040306 100
419 flii% 410423 1seskstostorsksk 523 PR A XA R e 4104040306 50
420 Fx 410423 1 skststrksksk 523 TR 4 XA (RS 2 4104040306 100
421 Kkl 410423 1 $kssroork 577 PR 4 XA RB R 2 4104040306 50
422 SR 410423 Lkksckk k526 PR %il:ﬁ%émz 4104040306 50
423 25 410423 1 sk 524 PR 4 XA IR T 4104040306 50
424 Bl 410423 1ksksteorsickokk 527 R s ?filiﬁ%éj\z: 4104040306 50
425 % 410423 1 $ksksskkok51 0 TR i 4 XA IR ZE R 4104040306 50
426 sk K 410423 I kskseiokok510 TR %i[*i%éj\z: 4104040306 50
427 Al 410423 1 sk 52X PR 4 XA R 4104040306 50
428 Ty 410423 Iekkckk k536 BRAR ) %il:ﬁ%%nz: 4104040306 50
429 B 410401 1kskkssrork049 X EA XA (R 4104040203 50
430 s 410401 1 skttt 1 3 XU AL XA E%%m = 4104040203 50
431 o 410401 Lkskksokk k028 X EA XA R 2 4104040203 100
432 XS 420620 Lkkskrk024 ilJEffilXHEéﬁ% 4104040203 50
433 P 410401 sk 014 X EA XA R 2 4104040203 50
434 Bl 410401 1skskskksskorsk028 XEA XA RE RS 4104040203 200
435 A 410401 1sesksoksorssk015 X EA XA R 2 4104040203 50
436 Sl 410401 1ssksoksrorsk01 3 XA XA T G F‘r o 4104040203 50
437 e 410401 kskkrsorks010 X E A XA (RZR 4104040203 50
438 ke 410401 1kksteoksicrokek015 X ?filiﬁ%émz 4104040203 50
439 B3 410401 1ok k02X X EA XA (R 2R 4104040203 50
440 Fx 410401  kxskkk025 XA XA T G F‘r = 4104040203 50
441 kgl 410401 kskkssrrk047 X FE A XA (R 2R R 4104040203 50
442 Fx 410421 Likskksokskk (25 X %il:ﬁ%émz 4104040203 50
443 2S5 ffi 410401 1ok k02X X EA XA R 2 4104040203 50
444 Fx4L 410401 1seksiokkk020 XA XA (R 12 4104040203 50




445 Pt 410401 1skskksriork 03X XEA XA R 2 4104040203 50
446 B 410401 sskskstkskk029 X FEAE X A &éJ\ = 4104040203 50
447 Fexk 410401 kskkrsrork020 X E A XA (2R 4104040203 50
448 % 410401 Liksksksiokskk02 1 X FE A X AT Eém 23 4104040203 50
449 gL 410401 1skskstokstorsesk (038 X EA XA R 2 4104040203 50
450 Hesar, 410401 1xxxxx%%%016 XEA XA RE RS 4104040203 50
451 BT 410401 kskkssrorrs014 XEA XA T 2 4104040203 50
452 Fxil 410401 1ksksrorok: 014 XA XA R T 2 4104040203 50
453 Lok 410401 kskkssorrk01 1 XA XA %éi’%\ 4104040203 50
454 Btz 410401 sskskosokskk0 1 8 XA XA (R 2 2: 4104040203 50
455 ik 410401 ksksrrk015 X ERE R 4104040199 50
456 Xl 410401 1ktersickokk 02X A X E &éJ\ = 4104040199 100
457 2 410401 kskkrsrrks010 X ERE R 4104040199 50
458 Fx 410401 1skskseksickoksk027 AL X E Eém = 4104040199 50
459 FikAL 410401 kskkrsork019 X ERE R 4104040199 50
460 JiE % 410401 1eksiokskk020 A X E %éj\ = 4104040199 50
461 s> 410401 Likskksoks k025 X ERER 4104040199 50
462 AR 410401 1 skttt 18 A X E E%%m = 4104040199 50
463 T 410423 I koksksork k321 X ERERS 4104040199 200
464 2. 410401 Lsskstolorsiokk013 Je A X R % 4104040199 150
465 B 410401 Lkskksorsk k022 X EREBERS 4104040199 50
466 A5 410401 Lotttk 13 TeAEAE X JE RZE 12 4104040199 50
467 Hx 410401 kskksokk k022 FHERXERERS 4104040199 50
468 Foxgd 410422 1 sksksrttosrsk634 TeEAL X TR D IE'IA 4104040499 50
469 s 410401 kskkrsrorks016 el X E R R 4104040499 50
470 ek 410401 1okt 046 TePEA X E R A 2: 4104040499 50
471 A2 410401 kskrsrrsk (032 iR X E KRR R 4104040499 50
472 ok 410401 1tk 20 P X JERER D a = 4104040499 50
473 A 410401 sktorkrx038 Jedsat X R B R A 4104040499 50
474 i) < i 410401 Lieksosokkk0 13 A X ERE RS 4104040499 50
475 Vx4 410401 1 #kkxxx5%0 1 X X ERERS 4104040499 50
476 ok 410401 Itk 022 M XERERS 4104040499 50




477 k% 410401 kskkrsrrk023 X ERERS 4104040499 50
478 Wk 410401 Iskskeierokok02 1 R X E EéJ\ P 4104040499 50
479 3% 410401 kskkssrrk024 X ERERS 4104040499 50
480 Py 410411 Isskekseiokskk520 et X JE RE R 2 4104040499 50
481 Xl 410401 kskssrrk025 X ERERS 4104040499 50
482 I 410401 Ikt 1 3 JesA X e R 2 4104040499 50
483 R 410401 kskkrsrork 026 HEHXERERS 4104040499 50
484 s 410401 Ikttt 01X X ERERES 4104040499 50
485 5l 410423 kskkksrkk k526 e EAL X & %éi’%\ 4104040499 50
486 XA 410421 Ik 048 A X E R R R 2: 4104040499 50
487 i 410401 kskkrsrorsk (022 el X E R R R 4104040499 50
488 el 410421 setsksoiok029 oA X JE EéJ\ = 4104040499 50
489 X1 410401 sk 017 JelErk X JE R ol o 4104040499 50
490 Tkt 410401 1steksicokkk06 1 et X JERE R 2 = 4104040499 50
491 D 410401 13kt :0 20 el X E R R 4104040499 50
492 Pk 410401 Lksopkirk010 JeUEAL XS Eéj\ = 4104040499 50
493 Wik 410401 kskkrsrork019 iR X E KRR R 4104040499 50
494 Tk 410401 Dsskskkskk 010 AL X E%?m = 4104040499 50
495 Fox B 412828 Ixkkkkkkk 628 X ERERS 4104040499 50
496 Bl 410401 1ktekserkk02X TePEA X E R A % 4104040499 50
497 wxlE 410401 Dkt x028 oA X JE R o 4104040499 50
498 LS 410401 Isekskeksiiereok( 1 X A X R R R 2 4104040499 50
499 T3k 410401 kskkssrork013 X ERERS 4104040499 50
500 gk 410401 1sksksksoors k02X R X E R F‘r Z 4104040499 50
501 Al 410425 1kskksskkk520 el X E R R 4104040499 50
502 ZsxA 410401 Itttk 19 A X E Eéj\ = 4104040499 50
503 Fxp 410401 Ikskksksx012 AL X JE RZE 4104040499 50
504 FH s 410423 stk 29 P X JERER D a = 4104040499 50
505 Tk 410401 I ¥kxxkkk%045 el X E R T R 4104040499 50
506 Praf] 410423 stttk 067 RFEHXERERS 4104040499 50
507 ExZ 412427 1 kkstrrk 326 X ERERS 4104040499 50
508 Ty 410401 Ikkstierekok026 T X R R 2 4104040499 50




509 By 410401 1skskskksriork 02X X ERERS 4104040499 50
510 K| 412327 Ikskokokok528 R X E EéJ\ = 4104040499 50
511 JE 5 410401 Lskskekeksioksksk02X B U AL XA R 4104040101 50
512 P 410401 P22 T Jo A XA %é% = 4104040101 50
513 T 410401 1sskkstksisk02 1 R A XA R R i 4 4104040101 100
514 )] 410401 Ikkteorsicrokk023 EEAX A RERS 4104040101 50
515 25 410401 Lsksktoksieksksk02X B A XA 2 R e 4104040101 200
516 IH-s 410401 1kskskskksk4x026 EEAXMNER RS 4104040101 50
517 Fx 410401 1 skskstesiesieksk02 1 FEAE XA RE RS 4104040101 50
518 Pk 410401 Issteksicrokrk02 1 FUEAE XA RE RS = 4104040101 50
519 Bk 410401 1 skl 027 R U AL XA R 4104040101 50
520 Bt 410401 Lekksckk k026 T I 4 XA Eéj\ = 4104040101 50
521 T 410401 Isokskiokk019 A O A XA R R A 4104040101 50
522 +x 410401 1sskeksieiokkk020 T U 4 XA %éj\ = 4104040101 50
523 T 410401 Lskkokeksiokoksk04X B U AL XA R 4104040101 50
524 ¥ 410401 sk 020 B I A XA %§J\ = 4104040101 50
525 LTSS 410401 oksokrsrrk(023 B U AL XA RE 4104040101 100
526 Zs % 410401 Lkskskskdokskx 062 T o A XA %émx 4104040101 100
527 it 410401 Lkskksokk k028 FIEAE XA RE RS 4104040101 50
528 ks 410401 1 fektsiokokk026 A Jo A A XA %éiﬁ% 4104040101 50
529 ey 410401 okskssrork(1 7 FEEAE XA RBE RS 4104040101 50
530 Sk 410401 1skskskksskoksk027 T SO 4 XA %éﬁ% 4104040101 50
531 fA] % 410401 Lsksksteksiekoksk025 FEEAE XA RE RS 4104040101 100
532 X1 410401 Tkkstersicrokk043 T AU 4 XA %éj\ = 4104040101 50
533 [k T 410401 Ixsksksrrrrk()1 7 B o A XA R 4104040101 50
534 % 410401 sk 029 B I A XA %§J\ = 4104040101 50
535 [k 410401 1skskskksriork 01X B AL XA RE R 4104040101 50
536 ok 410401 Dok 026 B EAE XA R D F‘rA 4104040101 50
537 Bk 410401 Lkt 1X B U AL XA R R 4104040101 100
538 Bk R 410401 1kteksiiokskk019 T U 4 XA %éj\ & 4104040101 50
539 Bix 410401 1sskskstekssc 02X A A XA 2 e 4104040101 50
540 % 410423 Lsekskssckk k520 FUEAE XA RE RS 4104040101 100




541 P 410401 1sesksokstorssk025 B A XA 2 e 4104040101 50
542 Bk 410401 1keksiokkk020 L A XA %éj\ = 4104040101 50
543 Hox 410401 Iokskaorr k021 A 1 A XA R B 4104040101 50
544 ok 410401 P22 T Jo A XA %é% o 4104040101 50
545 B 410401 1 sksssrrorok020 A XA RE RS 4104040101 50
546 5% 410401 Ikskstieiokok029 EEAX A RERS 4104040101 50
547 T 410401 1sskstorstorssk043 B A XA 2 R e 4104040101 50
548 FxbE 410401 1 skskstrersisk03 1 R4 XA RE RS 4104040101 50
549 XA 410401 13kt 025 R BUE A XA R 4 4104040101 50
550 ik 410401 L0220 BB XA KRB RS 2: 4104040101 50
551 il 410404 1 $kssroork 548 R U AL XA R 4104040101 100
552 s 410401 Lseksoksiokskk (025 A O A XA %éj\ = 4104040101 100
553 Fik 410401 Dskskkrsx012 O A X A R I 4104040101 50
554 S i 410401 1sskeksieiokkk020 T U 4 XA %éj\ = 4104040101 50
555 25T 410401 Lxskskrrrrx(14 B o A XA R 4104040101 50
556 Xl 410401 Ikl 028 I A DX %§J\ e 4104040101 50
557 i 410401 1 $ksstroorsk062 B U AL XA RE 4104040101 100
558 Tk 410401 k02 1 i B A XA %é%m = 4104040101 50
559 Bk, 410401 1 skssrroror(] 1 FIEAE XA RE RS 4104040101 50
560 2 410401 Lisksksksokskk (022 e O A XA %éiﬁ% 4104040101 50
561 % 410401 kskrork(18 FEEAE XA RBE RS 4104040101 50
562 Tk 410401 Lkl 02X T SO 4 XA %éﬁ% 4104040101 50
563 T 410401 1ssksokstorssk043 FEEAE XA RE RS 4104040101 50
564 ifisx s 410401 Ik 7 T Jo A XA %é% z: 4104040101 50
565 Jxdk 410401 Lsksksteksieroksk028 B U AL XA R 4104040101 50
566 e 410401 1sstekscrokkk05 1 9 L A XA %§J\ e 4104040101 50
567 s 410401 Disksokokrk021 o JOE A X A B R 4104040101 50
568 R 410401 1sekstorsriesk025 B XA RED F‘rA 4104040101 50
569 A xil 410401 1ssksksterss 02X R AL XA R 4104040101 50
570 FxIf 410401 Isekskerskerekk027 T Jo AL XA %?1\ P 4104040101 50
571 kil 410401 ksksrrk01 3 FEEAE XA RBE RS 4104040101 50
572 Joxk 410401 1keksciokkk026 EIEAX N RERAS 4104040101 50




573 s 410401 L sskektstokskk039 B A XA 2 e 4104040101 50
574 [k =% 410401 Ietsrrrsrrx(023 L A XA Eéj\ = 4104040101 50
575 ifi 410401 kskkssrork(1 7 B U AL XA R 4104040101 50
576 X[ 8 410423 Dkt 518 R A XK Eém o 4104040305 100
577 11 410423 Liskskoksokskk538 R EAX A RZE RS 4104040305 100
578 Fx 410423 Lsksoksokskk 53X R P XA RZE RS 4104040305 100
579 E 410423 1 skkkstrrok 52X REHXMNERERS 4104040305 50
580 ik 410423 1 kkxxkkkk527 REHXMNRERAS 4104040305 50
581 [k B 410423 skskksiork5 1X REHXEFRE RS 4104040305 50
582 [ 410423 Lsksosokskxk5 1 X R PR XA RE RS = 4104040305 50
583 ¥x 410423 1 skssrroror52 1 R EHXKRER 4104040305 50
584 P 410423 Ikkksokkx51 X R A XK &éJ\ = 4104040305 50
585 Fis= 410423 1 kkxxkk%k%557 R RE RS 4104040305 50
586 i 410423 skioriork540 R EHXHRERE = 4104040305 50
587 Fask g 410423 1 stk 517 R EHXHRER 4104040305 50
588 skl 410423 I skkkskk k557 SR B XA Eéj\ = 4104040305 50
589 T 410423 1 skssroork 527 R EHXHRER 4104040305 50
590 ER 410423 1 kkxskkkk528 SR Ak XA E%%m = 4104040305 50
591 kx4 410423 kskkrsrorkk520 R EHXEFRE RS 4104040305 50
592 X4 410423 Ikkksokkx 54X R BRI Eéiﬁ% 4104040305 50
593 F A 410423 I skoksook k5 1 4 REMXNRERS 4104040305 100
594 s 410423 1sskskkskoksk518 REHXMNREAS 4104040305 100
595 i1 410423 kskkskskk549 R RE RS 4104040305 50
596 Fx 410423 Dkskskkrrkk523 R EAHXMNRED F‘rA 4104040305 50
597 [ 410423 1 $kssrorork 525 R EHXHRER 4104040305 50
598 Bk /R 410423 Lieksoksokkk527 SR B XA Eéj\ = 4104040305 50
599 T 410423 1 sk 520 R EHXHRER 4104040305 50
600 Bk 410423 1xxxxxx%%54X R EHXMNRED HA 4104040305 50
601 e I, 410423 1 skssroork51 3 R XK RER 4104040305 50
602 Tkl 410423 I kkskkx515 R BRI Eéj\ o 4104040305 50
603 250 410423 Dokskrrk527 REHXFRE RS 4104040305 50
604 ks 410423 ] feksokkk 546 R A IXA RZE o 4104040305 50




605 Fikiz 410423 1 k%xx5xk%%53 | R EHXARE RS 4104040305 50
606 [V 410423 1sskskkskoksk 527 SR FAE XA EéJ\ ox 4104040305 50
607 ¥* 410423 1 skkkstrork 52X R RE RS 4104040305 50
608 st 410423 Ikt 52X RPN RERS 4104040305 50
609 Jifi k3 410423 1 skskssrkorok 546 REHXFRE RS 4104040305 50
610 FexJy 410423 Lsekksckk k516 R P XA RZE RS 4104040305 50
611 B 3E 410423 1 sk 524 REHXMNERERS 4104040305 50
612 x 410401 1sksokskrsk 027 st XA RE RS 4104040403 50
613 At 410401 13kttt k020 A X R T 2 4104040403 100
614 XiJ 410401 Itk 16 A XA R Bl 2 = 4104040403 50
615 il 410401 kskrsrrk(28 LAk XA R R 4104040403 50
616 ik 410401 1eksiokkk024 Ly A XA &éJ\ = 4104040403 100
617 7K 410401 I¥kskseierokok019 WA X R T 2 4104040403 50
618 Aok 410401 Tsteksieiokkk024 Ly X R 12 = 4104040403 50
619 B 410401 ksksrork (027 LAk XA R R 4104040403 50
620 Xl 410401 1 %kksskk010 Ly A XA Eéj\ = 4104040403 50
621 st 410421 stk 556 LAk XA R R 4104040403 50
622 Hex 410401 1ssksokskorsk (022 Ly A XA E%%m 2 4104040403 50
623 ok f 410401 kskkrsrorks016 i X R T 2 4104040403 50
624 ¥ 410401 1kksteoksicrokek027 L Ak XA Eéiﬁ% 4104040403 50
625 KiJ7K 410401 I3ksksksortx0 X WA XA R T 2 4104040403 50
626 Bk 410401 1kktorscrokk028 Ly X R 2 4104040403 50
627 B 410401 1kstersorkk02X A X R T 2 4104040403 50
628 Ffy 410401 1 ¥kksxrkik(024 L EAE XA R R F‘rA 4104040403 50
629 B 410421 1 $kssrorork 562 LAk XA R R 4104040403 50
630 2k 410401 1keksciokkk026 Ly A XA Eéj\ = 4104040403 50
631 Bk 410401 oksokrsrrk(023 Ak XA R R 4104040403 50
632 X% 5T 410401 Dkskkskrx01X s XA R HA 4104040403 50
633 ik 410401 1 $kssroorok023 At XA R R 4104040403 50
634 Tk 410401 1kkeksiiokskk0 10 Ly e A X Eéj\ ox 4104040403 50
635 25 410401 1 sksstsrrorok029 A XA R T 2 4104040403 50
636 Fx 410401 Iksksiierekok029 Ly X R 2 4104040403 100




637 Xij* 7K 410401 1 $ksstrroror(] 1 A XA R T 2 4104040403 50
638 X7 410401 Itk 18 Ly A XA &éJ\ = 4104040403 50
639 iR 410401 1kskskksrsiork (01X LAk XA R R 4104040403 50
640 255 - 410401 Ttk 02X Ly Ak XA Eém o 4104040403 50
641 XI|*{H 410401 Ixkkkskkx039 Ly = A XA %éi’%\ 4104040403 50
642 ke 410401 Lsekstorsololk022 s pk XA R 1 2 4104040403 50
643 X% 410401 Ixkkkskk k046 st XA R E 2 4104040403 50
644 % 410401 Liksksksokskk026 st XA RE RS 4104040403 50
645 Xl 410401 kskksrorkk02 1 Ly Ak XA %éi’%\ 4104040403 50
646 X7 410401 Ikskeiierokok01 1 Ly Ak XA R 2: 4104040403 50
647 Xijx By 410401 ksksrrk015 LAk XA R R 4104040403 50
648 ki 410401 1kksciokkk016 Ly A XA &éJ\ = 4104040403 50
649 % 410401 sk 02X L e A X B R 4104040403 50
650 X T 410401 Ikl 18 Ly A XA Eém = 4104040403 50
651 % 410401 ksokrsrrsk (022 LAk XA R R 4104040403 50
652 Bk 410401 1skeksiokkk029 Ll A XA R 1 2 4104040403 50
653 Fx 410421 13ttt :0 20 KPP X R TS 52 4104040404 50
654 2N 410421 1ssktstsiesksk0 10 R XA R A % 4104040404 100
655 SRei% 410421 Isokskik 030 KX KBRS 4104040404 50
656 +x 410421 Tstekscrokkk02 1 AP XA R 512> = 4104040404 100
657 T 410421 1sesksokstorssk 048 KP4 XA TS 2 4104040404 50
658 FHHTT 410421 Tkksteorsicroksk(1 2 RIFA X H R 12 2 4104040404 100
659 ok 410421 13kt :029 KA XA RBRE 4104040404 100
660 S 410421 1 ¥kxxk020 RIPA XA R 12 2 4104040404 50
661 2SI 410421 Ixskskrrrrx(27 RN RBAS 4104040404 50
662 R * 410421 1kttt :026 AR XA R 2 % 4104040404 50
663 fFHk 410421 1 $ksstrotorsk(0] 2 R XA KRB A2 4104040404 50
664 W% 410421 1skskskskoskkoxk ()19 REFAHXATRZED HA 4104040404 50
665 Zssft 410421 Ik 023 RIFA XA RZE 2 4104040404 50
666 kR 410421 Tkt 024 AR XA R 2R % 4104040404 50
667 PN 410401 1 skskssrroiok030 R XA RT 2 4104040404 50
668 ik 410421 Lkl 03X RN RE RS 4104040404 100




669 gk B, 410421 Lsskststoksk 1 1 RBP4 XA TS 2 4104040404 50
670 sk 410421 1keksiokkk016 REEAH: X At &éJ\ = 4104040404 50
671 BxkE 410421 Lokl 15 A XA R 5 4104040206 50
672 Zs g 410421 Lioksksksokskk 527 A A XA Eém 23 4104040206 50
673 A5 410421 sk 540 XA RERS 4104040206 50
674 =E3 410421 Lieksoksokkk528 i XA RE 2 4104040206 50
675 BT 410421 kskkssorks529 XN RERS 4104040206 50
676 Ik 410421 1tk 529 TiHEANRR RS 4104040206 50
677 S 410421 Dkskkssorkk549 XN RERS 4104040206 50
678 ek 410421 sskskstoksk k526 T XA RE RS = 4104040206 100
679 T 410421 Dokskokrork523 A XA RE R 4104040206 50
680 X7 410421 sskskstekskk510 VAT A DR &éJ\ = 4104040206 50
681 Fastt 410421 Dokskkssrrk522 A XA RE R 4104040206 50
682 Jospl 410421 Tekstesicrokk523 YA DR Eém = 4104040206 50
683 s 410421 Dtk 523 AT XA B 4104040206 50
684 = 410421 Lseksosokkk542 A A XA %éj\ = 4104040206 100
685 [T yig 410421 kskkssorks549 A XA RE R 4104040206 50
686 Tk 410421 1kskksorsk k526 A XA E%%m = 4104040206 50
687 =P 410421 kskkssrrk5 35 XN RERS 4104040206 50
688 ks 410421 1 #ekksikkk 520 IR A XA Eéiﬁ% 4104040206 50
689 fr 410421 Disksokotkk526 A XA R B2 4104040206 50
690 Tk 410421 Lsekksckk k526 A XA RE RS 4104040206 50
691 FR 410421 I %xxkk%k%518 XA RERS 4104040206 50
692 EEYea 410421 1ssksoksokorsk 562 A XA R F‘rA 4104040206 50
693 Kok 410421 Ikskksksk %528 A XA R 5 4104040206 50
694 ek 410421 kst k539 A A XA %éj\ = 4104040206 50
695 FH 410421 kskkssorkk52 1 A XA RE R 4104040206 100
696 Tl 410421 1 #ekstesioksksk5 1 3 A XA R 'E"A 4104040206 50
697 fi 410421 Diskskorkork524 AT XA B 4104040206 50
698 FxfL 410421 Liekstosokkk 52X R X R Eéj\ o 4104040206 50
699 k22 410401 Dkskksrsrokr024 R XA RET A2 4104040103 100
700 B 410401 1xxxxx%%%020 HEMH XA RERS 4104040103 100




701 B 410401 kskkssrorrs014 R XA REZ A2 4104040103 50
702 B 410401 1ktersickokk 02X BEAE XA &éJ\ = 4104040103 100
703 Tk 410401 I3kskksorr k018 HBHEAXMNRERS 4104040103 100
704 Bl 410401 1skeksieiokkk019 HEA XA RE RS 4104040103 50
705 XL 410401 kskrsrork 013 MR RERS 4104040103 50
706 rExH 410401 Liekkskk:029 HEA XA RE RS 4104040103 50
707 1ok it 410401 kskkssrork024 R XA RET A S 4104040103 50
708 B 410401 [ skttt 025 HEA XA RZE RS 4104040103 50
709 KAt 410401 Laksksksorr k013 R XA RE A 4104040103 100
710 Bl 410401 Lkl 03X HEAMXARZE RS = 4104040103 50
711 T 410401 kskkrrrk023 HEH XA RE R 4104040103 50
712 Btk 5 410401 Lsskstolosiolk013 B AL XA EéJ\ = 4104040103 50
713 {1 410401 Disotksotk023 SEAE XA R P2y 4104040103 100
714 bl 410401 Lekkssckkk020 HEA XA RZE RS 2 4104040103 50
715 [ 410401 Ik 029 A XA R T 4104040103 100
716 Ex 410401 Lkkssckk:020 A XA Eéj\ = 4104040103 50
717 FxEk 410401 okskoksrrk(38 HEH XA RE R 4104040103 50
718 TRk 410401 1sksksksksiskskk 020 B FEA XA ﬁé%mz: 4104040103 50
719 sk 410401 Lkt 02X BHEAL XA RE A2 4104040103 50
720 Fxf 410401 Lieksksokkk02 1 B XA Eéiﬁ% 4104040103 50
721 Tk 410401 1kssrrsrrk(23 HEMXMNERERS 4104040103 100
722 =]t 410401 1keksciokkk026 BEHXANRE RS 4104040103 50
723 s Al 410401 kskksork k032 HBHEAXAMRERS 4104040103 100
724 T 410401  $ksxsskkkk025 BEA XN RED F‘rA 4104040103 100
725 X% A 410401 Ik %026 A XA R T 4104040103 50
726 Fxz 410401 Lieksosokkk028 A XA Eéj\ = 4104040103 50
727 Xk RR 410401 kskkrsrork019 BEH XA RE R 4104040103 100
728 F i 410401 Ixokkriokk020 HEA X RZED HA 4104040103 50
729 Bl 410401 kskkssriks010 BEH XA RZE R 4104040103 50
730 B 410401 Lkoksckkk019 B XA Eéj\ o 4104040103 50
731 ok 410401 Ixkskksksx015 HEAXARZE RS 4104040103 50
732 ke 410401 1keksiokkk029 BEHXANRE RS 4104040103 50




733 B 410401 Ixskkksikrs014 HEAXARZE RS 4104040103 50
734 Xl 410401 1seksiokekk024 BEAE XA &éJ\ = 4104040103 50
735 B 410401 Iksksksorr k012 HBHEAXMNRERS 4104040103 50
736 B 410404 Isekstorsololk 548 HEA XA RE RS 4104040103 300
737 fi 410401 Disksokokk021 BHAL XA RE A2 4104040103 100
738 Bk 5, 410401 Lkl 15 HEA XA RE RS 4104040103 100
739 Fisd 410401 Dkskkssrorkk02 1 R XA RET A S 4104040103 100
740 Fx 410401 1skskkstsieskssk0 20 HEA XA RZE RS 4104040103 400
741 Tk 410401 L3ksksksokk k022 R XA RE A 4104040103 100
742 BT 410401 Iteksietokekk0 14 HEAMXARZE RS = 4104040103 100
743 il 410404 1kskksriokk52X HEH XA RE R 4104040103 100
744 0% 410401 1kksteorsicrokek018 BEAE XA &éJ\ = 4104040103 50
745 Fx 410401 Ikskssorrx02X HBHEAXMNRERS 4104040103 50
746 Tk 410401 Tsteksieiokkk024 BEAXARE RS = 4104040103 50
747 Fx 410401 kskkrsrork029 HEH XA RZE R 4104040103 50
748 Fx 410401 Lkkckk k026 A XA Eéj\ = 4104040103 50
749 BT 410401 Ikskksrkk %065 B XA R T 4104040103 50
750 X1k 410401 1 stttk 02X B XA E%%m = 4104040103 50
751 Fx 410401 Ikskksokr k025 BEH XA REZ A 4104040103 50
752 Hesrh 410401 Lekksckk:016 B XA Eéiﬁ% 4104040103 50
753 J 3% 410401 kst (28 R XA REZ A2 4104040103 100
754 Fqe 410401 1kksteorsicrokek027 BEHXANRE RS 4104040103 50
755 Bk 410401 Isokskiokk010 HBHEAXAMRERS 4104040103 100
756 JukBk 410401 [ ksxsskkk(027 BEA XN RED F‘r o 4104040103 50
757 Fxdf 410401 Lkskksorr k013 HEH XA RZE R 4104040103 50
758 XI5 410401 Lkl 17 A XA Eéj\ = 4104040103 50
759 Hyes 410401 Dkskkssrorkk02 1 BEH XA RE R 4104040103 50
760 T 410401 1skskskstorsksksk (028 B4 X A E%%F‘(A 4104040103 50
761 Tt 410401 Lkskksokk k027 BEH XA RZE R 4104040103 50
762 T 410401 Lieksosokkk0 1 7 B XA Eéj\ o 4104040103 50
763 Bk 410401 kskkrrork(18 R XA RET A2 4104040103 50
764 Fxi 410401 1kktorsicrokk043 BEHXANRE RS 4104040103 50




765 XI5 410401 Isstrotkk030 AL XA RE R o 4104040103 50
766 A 410401 [iksksikx029 B A XA %éJ\ = 4104040103 50
767 D 410401 Lisksssokskk (13 HEA XM RER 4104040103 50
768 EE 410401 1skskskssrskskk 044 B EA X R Eém o 4104040103 50
769 sk JE] 410401 Lseskstsioksek 1 7 BEMXANRERS 4104040103 50
770 X2 410401 Lksksrsrx018 BEMXHNRERERS 4104040103 50
771 Sk 410401 Lskskteksieroksk023 HIEH XN RERS 4104040103 50
779 Bk 410401 1 k%%x555%%020 HEAXMNRERE 4104040103 50
773 Fh 410401 Lskteksteoksksk0 24 HEH XN RERS 4104040103 50
771 =P 410401 1okt k026 BEAXARE RS = 4104040103 50
775 Bhs/f 410401 Lskkekstetokskk0 19 R XA R 5 4104040103 50
p e 410401 Lk k027 B AR XA %éJ\ = 4104040103 50
777 o 410421 Dkt 02 1 ) AR XA R 4104040106 100
778 g 410421 1sksksksskokskk (034 AR A X RS %émz: 4104040106 50
779 fA[sqt, 410421 Diskskokx040 HHT R DA BGZR A 4104040106 50
780 [P 410421 Lkskssx016 FH A XA %éj\z: 4104040106 50
781 T 410421 1ks5%x555%050 A A XA R 4104040106 50
782 X% 5% 410421 Dot 024 )AL RENA 2 4104040106 50
783 Fx 410423 Lk 621 Yt XA TR S 4104040303 50
781 7= 410423 1 skskskkskoksk525 VFYi A XA E?ﬁ% 4104040303 50
785 Tx 410423 stk 521 XA REAS 4104040303 50
786 . 410423 1565520 VYt XA RZE R 2 4104040303 50
787 T, 410423 I ssksksksskokk 544 Yt XA RBRS 4104040303 50
788 B 410423 | xkskkk5k%528 VYt XA R 'E"A 4104040303 100
789 ok 410423 1kkkkx55%528 VEH5 A XA R 4104040303 50
790 EEBITA 410423 Liksoksisk526 YEH 4 XA %éj\ 2 4104040303 100
791 X3 F- 410423 [ttt44£529 VDAL XA R 4104040303 50
792 Zsxkl 410423 Iietsotkictk565 VDA XA & 5 'E"A 4104040303 50
793 ] 410423 [Hftt4445 16 VEPTAE X R 4104040303 50
794 ok 410423 Isprrik523 VEYIHE XA R P 2 4104040303 100
795 T 410423 1sksksteksickoksk 598 Y XA RERS 4104040303 50
796 Tk 410423 1565560 VYt XA RE R 2 4104040303 50




797 ¥ 410423 skskksriork 52X Y XM RERS 4104040303 50
798 s 4104231 xxxxx%%%52 1 VEH 4 XA EéJ\ z: 4104040303 100
799 Rl 410423 1sesksokstorssk 527 VEYi A XA R R 4104040303 50
800 kT 410423 1tttk 5 1X VI35 X RS Eém o 4104040303 50
801 Hfp 410423 kskkksrrk®529 Y XM RERS 4104040303 100
802 k]l 410423 13tttk 1X VRV XA R R 2 4104040303 150
803 skt 410423 Listeckorkork5 34 VRYTHEIX A R 1 2 4104040303 50
804 T 410423 kkxskkkk548 VPVt XA RZE 2 4104040303 50
805 Byl 410423 Dkskksrrrk523 Y XM RERS 4104040303 50
806 A% 410423 Ik 526 VY XA KRB RS 2: 4104040303 50
807 i 410423 okskrrk5 28 VEYi A XA T R 4104040303 50
308 RS 410401 1 xxxxx%%%024 gk A XA EéJ\ z: 4104040401 100
809 =] 410401 sk 042 T AR XA RS 5 4104040401 50
810 s 410401 Liksksksiokskk02 1 s HE A XA Eém 2 4104040401 50
811 [ 410401 kst 028 KA XA R R 4104040401 50
812 Zhshk 410401 Liksksksokskk (18 gk AL XA RZE 2: 4104040401 50
813 ko 410401 1kskksroik:020 KA XA R R 4104040401 100
814 e 410401 1 stttk 020 gk FE AR XA E%%m = 4104040401 50
815 A 410401 Isokskk k019 KEHXMNRERS 4104040401 50
816 ks g 410401 1 #ektsikokk030 SR AL XA B2 5 % 4104040401 100
817 Fxi 410401 1kskkrsrork:089 KEHXMNRERS 4104040401 50
818 Ak 410401 sesksksstekskk024 gR A XA RE R 2 4104040401 50
819 M | 410401 Ikskksork 035 KEHXMNRERS 4104040401 50
820 FxH 410401 1sksksoksrorsk (027 gKEA XA IR TR F‘r 2 4104040401 50
821 i 410401 1 sksssrrorok(10 KA XA R A 4104040401 50
829 st 410401 1xxxxxx%%014 K A XA %éj\ z: 4104040401 50
823 BATY 410401 kskrsrrk (027 KA XA T R 4104040401 100
824 FExfz 410401 Ikkkkrx018 sREAH XA RZE D F‘r = 4104040401 50
825 Fx 410401 kkskssrorsk (]2 KA XA R R 4104040401 50
826 s 410401 Lieksksksokskk 042 sk A XA R 2 4104040401 1500
827 Bk 410401 kskkrsork®016 KEHXMNRERS 4104040401 50
898 B 410401 1 xxxx5%%%026 KA XA RE RS 4104040401 50




829 kw7 410401 oksksrork(13 KEHXMNRERS 4104040401 50
830 Fx 410401 Likkssckk k026 gk A DR EéJ\ = 4104040401 50
831 ik &) 410401 Ik 022 gk A X AT RS 4104040401 50
832 Fkit 410401 1skskskssrsksk:019 gk A DR Eém & 4104040401 50
833 EEan 410401 kskksrsorrk01 1 KEHXMNRERS 4104040401 200
834 Tx 410401 1 xxxx5%%%026 KEH XA RE RS 4104040401 50
835 2S5 Fh 410401 kskkssrorrs014 KEHXMNRERS 4104040401 50
836 kT 410401 1sksokskrsk 027 sk A XA R 2 4104040401 50
837 IR 410401 Likskksokk k025 ik A XA %éi’%\ 4104040401 100
838 kg 410401 sesksksstoksk0 1 4 gk AL XA IRZE T 2: 4104040401 50
839 sl 410401 1kskkrsork®019 KA XA R R 4104040401 50
840 XiJ I 410401 1ktekserokkk02 1 gk E A XA &éJ\ = 4104040401 50
841 Kk i 410401 Ixkskksksx013 kA X AT RS 4104040401 50
842 Tt 410401 1ssksokskorsk 027 gk A DR Eém = 4104040401 100
843 Bk 410401 ksokrsrrsk (022 KA XA R R 4104040401 50
844 Wy 410401 1xxxxx%%%020 gK A XA KRB R z: 4104040401 50
845 il 410401 Dkskksrorrk03 1 KA XA R R 4104040401 50
846 Exd 410401 [ skststeteksksk028 gk FE AR XA E%%m = 4104040401 50
847 i 410401 kskkssrir024 KEHXMNRERS 4104040401 50
848 ek H 410401 1skstomior 0 2 SR AL XA B2 5 % 4104040401 50
849 ki 410401 Ixkkkskk®019 TR XA R ZE 2 4104040401 50
850 J7 % 4% 410401 Liekkssokk:020 gR A XA RE R 2 4104040401 50
851 B 410401 Dkskkrsrrk023 KEHXMNRERS 4104040401 50
852 T 410401 1kt :016 gKEA XA IR TR F‘r 2 4104040401 50
853 ¥rxlle 410401 Ik %026 kA X AT R ZS 4104040401 50
351 . 410401 1k 028 XA X AT %éj\ = 4104040301 50
855 Ty 410401 1sksksokstorsesk027 BRI XK 2 B 4104040301 100
856 Fx 410401 1 skt 15 EXUR AL XA E%%HA 4104040301 50
857 XL 410401 Ixskrsrrrrk(27 XIS XA R T 4104040301 50
858 Bk 410401 1stekscrokkk02 1 XA A XA Eéj\ ox 4104040301 50
859 s 410401 1ssksokstorsesk028 RIS XA T T 2 4104040301 100
860 ke 410401 1 setsksorskox( 18 RS AE X AT RZE 4104040301 50




861 X 410401 1sskkstersiesk0 1 1 BRI XA 2 B2 4104040301 50
862 Bl 410401 1kstekserokekk01 1 XA A X At &éJ\ = 4104040301 50
863 Fx 410401 [ kxxkkk%028 XS XA (R 2R 4104040301 50
864 E 410401 Ikktersicrokek025 XU AL XA Eém o 4104040301 50
865 ek 410401 1sskskstekss0 1X BRI XK 2 2 4104040301 50
866 PXiG 410401 Isksteksicrokkk01 1 XS A XA (R 12 4104040301 50
867 i 410401 1 sksssrrork(019 XS A XA R 2 4104040301 50
868 e 410401 1 skttt 1 X AU A XA (R 1 2 4104040301 50
869 e 410401 [xxxskkxxx52 1 XA XA [ 2 4104040301 50
870 SRk AE 410401 Itekseiokkk024 XS A X (R D12 = 4104040301 50
871 ok 410401 1sskstsisiesk0 1 4 BRI XK 2 4104040301 300
872 Fhkse 410401 Iksksiierokok546 ARX I A XA EéJ\ = 4104040301 100
873 SRS 410401 1 kkxx55%02X XS XA (R 2R 4104040301 50
874 +x 410404 1tk 50X RAIA A XA Eém = 4104040301 100
875 B 410423 kskkrsrkk 526 XIS A XA 2R 4104040301 50
876 ok 410401 Istekserokkk02 1 XU AL XA %éj\ = 4104040301 50
877 Fx 410401 13kt :049 BRI XK 2 B 4104040301 50
878 EEE 410401 1 skststeteksksk025 X A X At E%%m = 4104040301 50
879 0 410401 ktorkrx028 R A XA B R T o 4104040301 50
880 2wk 410401 Lsekstorsolokk537 A 4 XA Eéiﬁ% 4104040301 50
881 Ak 410401 Disksokorkk029 AU AL XA R A 25 4104040301 50
882 PexiE 410401 Lotttk 14 DA A XA R T 2 4104040301 50
883 Fx 410401 1 %xxx55%029 XS XA R 2 4104040301 50
884 ZenE 410401 I skkksrrk() ] X RIS XA T F‘rA 4104040301 50
885 L0 410401 Dkskskssrksk 024 XA XA R T 4104040301 50
886 77 %K 410401 Isksteksicrokekk01 1 XU AL XA %éj\ = 4104040301 50
887 A% 410401 13kt :029 BRI XK 2 B 4104040301 50
888 Rk s 410401 [ skststtesksksk027 XIS A XA R R 5 HA 4104040301 50
889 il 410401 Ikskksokr k023 XIS A XA TR 4104040301 50
890 Fx 410401 1kl 1X XU AL XA Eéj\ ox 4104040301 50
891 Fx 410401 Lsoksksk k029 RIS XA T T 2 4104040301 50
892 J sl 410401 Lskokstkotokokk(19 R XA R o 4104040301 50




893 Bty 410421 Dokskrork5 13 MR XA RB RS 4104040207 50
894 BT, 410421 Iskskeiotokok51 7 IS A XA &éJ\ = 4104040207 50
895 Bohl 410421 1kskkssrkk®529 MR XA RB RS 4104040207 50
896 Bk 410421 Tksteoksicrokek5 1 2 BEREAE XA RE R 2 4104040207 50
897 2l 410421 skskksriork52X ﬂ%%ﬁﬁiEﬂ%éiA 4104040207 50
898 Bl 410421 Iskkxxkk%510 e A X R R e 4104040207 50
899 X[ 410421 Ikskkskskx52X W R A XA R o 2 4104040207 50
900 Bk o 410421 ssksktsrssrk 52X W B AL XA R o 4104040207 100
901 FHfil 410421 Dkskkrsrokk 526 MR XN RB RS 4104040207 50
902 Bk 410421 Lsekkssckkk510 ﬂ%ﬁ??ﬁiliﬁ%éj\z: 4104040207 50
903 [k SR 410421 13tk k516 S [ X A 2 4104040207 50
904 Sy 410421 1kstorscrokek5 1 3 IS A XA &éJ\ = 4104040207 50
905 Thx 2 410421 kskkssrorks524 MR XA RB RS 4104040207 50
906 e 410421 Tteksiokskk529 BEREA XA RE R 2 = 4104040207 50
907 Kok 410421 kskkssrrk5 22 WAL XA RE R 4104040207 50
908 B — 410421 Lsekksckkk516 I o A DX Eéj\ = 4104040207 50
909 e 410421 kskksrsrrks520 MERRAL XA RB R 4104040207 100
910 A% 410421 1skksstokxk520 W o A X A E%%m z; 4104040207 100
911 T 410421 kskskksiokk52X MR XN RB RS 4104040207 50
912 ik 410421 stttk 5 38 W A XA Eéiﬁ% 4104040207 50
913 x|l 410421 okskkssrrk5 52 MR XM RB RS 4104040207 100
914 % 410421 Isstekscokkk52 1 BERRAL XA RE R 2 4104040207 50
915 TR 410421 Dkskkssrork5 1 2 MR XA RB RS 4104040207 50
916 ek 410421 ekstesicrokek 563 W PR A X IR 07 F‘rA 4104040207 50
917 - 410421 1sskstekseskk52 1 S o X 2 4104040207 50
918 Ex& 410421 Lieksoksokkk5 12 I o A DX Eéj\ = 4104040207 50
919 VP 410421 Dokskrrk5 18 WERRAL XA RE R 4104040207 100
920 RSN 410421 1kskstskoskskexk51 1 E [ 41 X A E;HA 4104040207 50
921 BT 410421 Dokskssrrk5 22 WERRAL XA RE R 4104040207 50
922 T 410421 Lieksosokkk525 I A A X A Eéj\ o 4104040207 50
923 2%l 410421 okskssrork5 1 2 MR XN RB RS 4104040207 100
924 s 410421 Lsekskssokokk51 1 BEREAL XA RE R 2 4104040207 100




925 B 410421 [ seskstsiokskk 522 WEE A A X ) R 2 4104040207 100
926 Hles 410421 Lieksoksokkk525 I A A DX &éJ\ = 4104040207 100
927 1% 410421 Ikskksksx51X W R A XA B Dl 2 4104040207 50
928 = 410421 ksteksicrokek 525 BEREAE XA RE R 2 4104040207 100
929 T 410421 [ seskstsiokskk 527 S [ [X ) FE 2 4104040207 50
930 Hixf5 410421 Lseksksckkk510 W B AL XA R 2 4104040207 50
931 Bt 410421 kskkssorks5 14 MR XN RBR S 4104040207 50
932 Hxiz 410421 skskosoksk5 13 W B AL XA R o 4104040207 50
933 25 410421 kskksksrkk®556 MR XN RB RS 4104040207 50
934 T x 410421 Lkl 1 X W B AL XA R 2 = 4104040207 50
935 T 410421 1 sskskotstokskk 524 S [ [X R B2 4104040207 50
936 RS 410421 Dksksoksrokk 548 I A e DX &éJ\ = 4104040207 50
937 oK 410421 1 $ksksskoiok510 MR XA RB RS 4104040207 50
938 i 410421 Isekstosololk5 1 7 W R A XA B Bl 2 = 4104040207 50
939 RN 410421 I ssksktstokskk5 19 WEE S A X ) R 1 4104040207 50
940 = 410421 Lieksosokkk523 I o A DX Eéj\ = 4104040207 50
941 Bk 410421 oksokrrk523 MERRAL XA RB R 4104040207 100
942 W it 410421 Issksksreekkk510 MG [ A XA R z; 4104040207 50
943 Bk 410421 1 $kskssroror5 24 MR XN RB RS 4104040207 50
944 Fx 410421 Lseksksckkk520 I A A X A Eéiﬁ% 4104040207 50




